(34 2i)z7F 47} HEE o= Bag 7 = =
T W e O—le—zox]x—kyzaé (x, y) =
A A ’ » Y 3 1S wAol=7t T (X e
ET)

@ @




2. BaFz=(01+0)2+G+2)x+3(2-i)°0A 7t 55 of, A
x9 727 (Hi=V-1)

D -3 @ -2 B -1 @ 0 ®1



3. O<a<1¥W, vava-1Vi-av-a & 7ds] 5H8?

® a(l-a) @ ala-1) ® a*(a-1)
@ a%(1-a)? ® —a?*(1-a)?



Auk
mlo
ok
ox
>
1o

e

i

x> =5lx+6=0

@ o, =1

@ +2. +3

@ 0, 2

B +3, +4




o] 2+ V3o] HER

ki

A xt+px+qg=09
o, p+q 2] F27

o
<}
=

Ho‘r 2]
%]

xof thgt o]}
e pgE

5.

B 2

@ 1



xof ek 22 WA A x2 —2ax+a® +ka—2k+b = 0°] kgl TA §lo]
SS M W, a+ b9 F2?

@D 4 ® 8 3 2 @ -2 ® 15



7. xol gt o] AP A k2 — 3px + 4g + 2 = 09] T 9] H|7} 1:27}
ST E Sl A p, goll tiste] thg F dH2 ¢ o] e g T A2

A7

D -1 _= ®

N | —
DO | —



o] I Al (2 - k)x2 4 2kx+1=00] A& ThHE B35 o] AL
A ko] ghe] W E?
D k<-2,k>1 @ k<-2 ® k>0

@ k>2 B k<2

filo
N
-l
rr



25 27 21 23 25
7 9-7 90+ @+ 0O-=

O -






11. xy7FASY off, —x2 —y? - 4dx + 6y — 12 2] HHAZL2?

D -2 2 -1 3 0 @ 1 B 2



12.

AHO R HE 24 30m 2 Y2 9 3O r = 59| 0|5 hm &t
SHH h = —52 4 30r 1 TAZF AA-HTL. o] Fo] 7H =0 22t
o] 2| e 2 RE Q| =o]& Fotoigl,

ge o

o K






sholat.

2

a+b9 7k

SH
=]

g4 a, b9

[e]
T



ol

of

¢

IS
A
jo

Nr

T

0=

FAA 22+ 14y —dy+4

sholat,

:ll

O
=

x+y°l gk



16. B425 77 bzt |z 1= 2+ 88 WEAZ W, | z P 32?7 (4,
z=a+bi(a,b= 2L W, |z|= VaZ + b2 °|t})

@ 68 @ 100 ® 169 @ 208 B 289



17.

1-|-\/_t
2

=

® 1

——]_o:] Z2005 +22005 __:{ %}\_o

@ -1
® V3i

©)

57

~1- 3i
2




y ol gt ol A f(x, y) = ¥ +2(y - D)x+y* +ky—3°] x, y 2|
Uxprl o2 Q4ralld wf, Ak o] e FotH?



19.

oA y = ax?+bx+c O] Aol 9 0|1 o A

09 F o] -2, 4 & o, abe ©] 72?7 (H, a, b, ¢

@D -10 ® -12 ® -14 @ -16



20. o)Ay = 22— 2ax+4a-49] HE:gHe molgt & o, m o] A
otoiet,

s
=¥






22,

x

m, 1

@D 60

19] Al 2°] a,b, c o]t} 22a%1 + 21572 + 22¢%1 9] Flo] A
A e Aehd?

@ 65 3 68 @ 72 B 75



¥4y +2=3

o
<

<M
ol

oF

o
o

<

—

<M

@ 92 ® 4

3 0



24.

A Al

B o

29

@ x:2,y:4

@ x=2 y=-1

A 2x? —dxy + 5y - 8x -4y +20 =0 =

@ x:4,y:2

@x:—Q,yzl

©) x=-1,y



® 1



